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ATTEMPT #1

PART A

1C

Having taught they are People, Procedures, Data, HW, & SW, I expect that all will avoid D (no people). And as information is the processing of DATA it is an end product which leaves B and C, although C is correct one could argue the semantics of programs (not necessarily meaning software programs). This would mean that both procedures and programs in effect are the same thing and then B and C are the same.

2D
Since this is not an automatic task or a self learning system this removes A and C. One could argue a transaction processing system but these are usually confined to batch processing procedures such as producing payslips, etc without a decision making process being involved.
One could argue the checking and allocation of seats could be classed as a MIS as it is being used to make decisions albeit not at management level.

So we need to decide is the information being used by the ticket seller a decision making system which helps and supports him in deciding the company directions or simple transaction on a day to day basis.

Therefore D

3D

A a set of tools to allow a company to quickly develop and expand its own systems

B agile has feedback from the client at each stage

C Structured – tradition approach to analyse then construct

D Prototyping – yep this is prototyping

4A

Waterfall is the traditional SDLC approach – one step at a time down the waterfall with no going back. 

B of course users are involved in the analysis stage
C yes it does

D yes it does

5A

TRUE so out goes B D

10 km eh? No I don’t think so (as the saying goes) out goes C

6C

7C

8A

B Bag Weights is not an entity. Although, strictly speaking there is no reason why an entity has to be human it is simply “something” supplying data to the system

But since this is a program module well within the system and reading bag weights as a file I would expect it to be part of the system and not external to it.
C Is supplier mentioned? No so out you go

D Comes from thin air, I don’t think so. Out you go

9B

A C will occur during compiling before you can get to enter data 

D never heard of this error before. I seem to be able to write what I want in documentation and it has never affected the output nor has the computer had any concerns with it?

10C

As the brackets have to be stored in the access file even when you use this as an input mask it has to be string. Also I teach that phone numbers are to be numeric as there are never any calculations to be done with them.

A number to big to be an integer

B Phone numbers should not be stored as a number as a database rule

D Hmm yes and no phone numbers – verrry interesting as it was said in “Laugh In”

11B

Oh yes there is about 10 bits to the byte so I tried to find 2s however 1.6 is close enough, but I reckon if you timed it for real it would take a lot longer – But this is theory so it is B

12B

Ahh yes effectiveness – timeliness, quality, accuracy. Efficiency – cost, time effort.

A efficient

C efficient

D efficient

13D

A existence – non blank field
B numeric – is it a number?

C string – is it alphanumeric?

D Range  - yeas the date will have to be between reasonable values

14A

It’s the only one that introduces users to program features

B Installation guide. For technicians to install, nothing to with features BUT if you watch the XP install screens they show you all the whiz bang features that you are about to experience so it acts as a tutorial along they way!

And as I think about it almost all the installs I have done have screens extolling the virtues of the program.

C Data Dictionary – for programmers not about features

D Systems Documentation – for technicians not about features

15B
16C
17D

Although C is also common it leaves the router exposed to attacks

18B

19D

The data is being read in sequence and not accessing amounts by directly finding the required record

20B

